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node = list -> head;
A: while (node != NULL){
B: index = calc (node -> data);
C density [index] = update_density
(density [index], node -> data);
D: node = node -> next;
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C:

D:

node = list -> head;
while (node != NULL) {
index = calc (node -> data);
density [index] = update_density
(density [index], node -> data);
node = node -> next;
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Corel , Core2, Core3

node = list -> head;
A: while (node != NULL){
B: index = calc (node -> data);
C density [index] = update_density
(density [index], node -> data);
node = node -> next;
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Corel , Core2, Core3

node = list -> head;
A: while (node != NULL){
B: index = calc (node -> data);
C density [index] = update_density
(density [index], node -> data);
node = node -> next;
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Core3

node = list -> head;
A: while (node != NULL){
B: index = calc (node -> data);
C density [index] = update_density
(density [index], node -> data);
node = node -> next;

}
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node = list -> head;
A: while (node != NULL){
B: index = calc (node -> data);
C density [index] = update_density
(density [index], node -> data);
node = node -> next;

}
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node = list -> head;
A: while (node != NULL){
B: index = calc (node -> data);
C density [index] = update_density
(density [index], node -> data);
node = node -> next;

}
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node = list -> head;
A: while (node != NULL){
B: index = calc (node -> data);
C density [index] = update_density
(density [index], node -> data);
node = node -> next;
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A:
B:
C:

D:

node = list -> head;
while (node != NULL) {
index = calc (node -> data);
density [index] = update_density
(density [index], node -> data);
node = node -> next;

}
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Original Loop:

node = list -> head;

A: while (node = NULL) {

B: index = calc (node -> data);

C: density [index] = update_density
(density [index], node -> data);

D: node = node -> next;

> intra-iteration dependence

» cross-iteration dependence
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Original Loop:

node = list -> head;
A: while (node = NULL) {
B: index = calc (node -> data);
C density [index] = update_density
(density [index], node -> data);
D: node = node -> next;

> intra-iteration dependence

» cross-iteration dependence
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Original Loop:

node = list -> head;

A: while (node != NULL) {

B: index = calc (node -> data);

C: density [index] = update_density
(density [index], node -> data);

D: node = node -> next;

> intra-iteration dependence

» cross-iteration dependence
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Original Loop: After Partition:

node = list -> head; i node = list -> head:; A
A: while (node |= NULL) { A: while (node = NU|,_L){
B: index = calc (node -> data); D: node = node -> next:
C: density [index] = update_density }
(density [index], node -> data); - o
D: node = node -> next;
} 4 )

while (TRUE) {
E: node = getNodeOrExit();
B: index =calc
(node -> data);

- ; J

4 )

while (TRUE) {
F: node = getNodeOrEXxit();
G: index = getindex();
C: density [index] = update_density
( density [index], node -> data);

> intra-iteration dependence \ J

» cross-iteration dependence
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Sequential

-
node = list -> head;

A: while (node != NULL) {

D: node = node -> next;

}
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Sequential
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node = list -> head;
A: while (node != NULL) {

J

D: node = node -> next;
}

\_

Corel , Core2, Core3

DOALL

while (TRUE) { )
E: node = getNodeOrExit();
B: index = calc
(node -> data);
\_ ; J
Corel Core3
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Sequential

r

D:
}

\_

node = list -> head;
A: while (node != NULL) {
node = node -> next;
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DOALL

\_

E:
B:

while (TRUE) {

node = getNodeOrExit();
index = calc

(node -> data);

}
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LOCALWRITE

-

F:
G:
C:

while (TRUE) {
node = getNodeOrExit();

index = getindex();
density [index] = update_density

(density [index], node -> data);
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node = list -> head;
A: while (node = NULL) {
B: index = calc (node -> data);
C density [index] = update_density
(density [index], node -> data);
node = node -> next;
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DSWP +
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DSWP + DOALL
Corel , Core2, Core3 | Core4
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DSWP + DOALL + LOCALWRITE
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> intra-iteration dependence

-+ cross-iteration dependence

Loop Distribution
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Stage3
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@ Loop Distribution

DSWP+
8
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Questions?
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